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SOCIOLOGY

Paper III

Time Allowed : 2% Hours] [Maximum Marks : 150

Note :— This questions paper contains Seventy five (75) multiple choice gquestions.

Each question carries fwo (2) marks. Attempt All questions.’

1. The primary reality is a construct of both the natural elements and the
.......................... elements
(A) Social (B) Physical
(C) Sacred (D) Profane
2 Who used _‘ind‘exical expression’ for ethnomethodology ?
(A) Peter Berger (B) H. Garfinkel
(C) Thomas Luckmann (D) Alfred Schutz

3. Which of the following is not correctly matched ?

»

S
(A) Neo-Marxism — Inequality moving beyond the economic sphere
(B) Hebermass — Communicative action
(C) Metanarrative  — Comprehensive account to various historical events

(D) Industrial society — Structure of society based on the provision of

information, innovation, finance and services
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R s rejects the self-sufficiency of structures.

(A) Post-modernism (B) Post-structuralism
(C) Modernism (D) Structural-functionalism
5. Repudiation of the logo-centric construction of grand narratives is called
(A) Discourse (B) Simulation
(C) Ambivalence (D) Deconstruction

6. In the foilowing which one ig/are racial groups ?

(A) Negroitos (B) Mongoloids
(C) Dravidians - (D) All of these
7. Dumont emphasizes the role of .........ccoeviinneens in moulding human behaviour.
(A) Equality (B) Ideology
(C) Hierarchy (D) - None of these
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8. Tribals are nothing but the ‘Backward Caste Hindus', who said this ?
(A) Dumont (B) Madan
* (C) Srinivas (D) Ghurye

9. According to A.R. Desai Marxist approach helps in understanding

OF (icirvasiriies ;
(A) Class character {(B) Role of state
(C) Path of development (D) All of these

10. “Primitive groups may be selected for the missing links in the study of world

culture”, who said this ?
(A) M.C. Pradhan (B) R. Bhattacharya
(C) Surajit Sinha v (D) N.K. Bose
11. David Hardiman used subaltern perspective in his study of :
(A) The Coming of Devi (B) Othér Backward Caste

(C) Dalit Ideology (D) Scheduled Caste

T.B.C. :14/15/ET-1I1 6



8. ‘'Sonfa wmo WE ¥ Aftw & fogel A fumEt wle € 1 ww e w7

(A) =g

) HifEm

(A) o favma

(C) faw™ =1 99

10. Tava wwpfa % avags # 0few W9y =1 999 UF AWE Fof & w9 1 (10

wFa ¥ | oE e ww b 2

(A) M. #H. Wy

11. @f’d’g‘m%ﬂa% ..............................

(A) & =HiET ATE o=

(C) =fem fagrym

T.B.C. :14/15/ET-111

(B) am. e

(D) U4 ®. a9

(B)y == fusdt wnfa

(D) ryfea



12, avEsissiaisss refers to the gifts given to a woman by her natal kin or by

her husband at or after the wedding.

(A) Kanyadan (B) Dowry

(C) Stridhan (D) Gift
13. Reverse Osmosis (RO) is to make .........c.oceniee. s

(A) .Water palatable (B) Food nutritious

(C) Past drought tolerant (D) Healthy food
14. The most important element of nationality is :

(A) race (B) religion

(C) corporate sentiment (D) language

15.  According to Durkheim, deviance arises because of differences in commitment

1718 4 ¢ 1= S .
(.A) Shared beliefs (B) Common ideals
(C) (.ollective sentiments ' () Societal norms
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12, 9ET % 999 = 4 # = & sue wmfaw e @ 3w ufa g B W@

R S —
(A) F=EE (B) =@ -
(C) =i (D) TWR
TR T T
(A) wfEmt =@ (B) difts drsm
(C) & el D) TEregEdE WeH
14, TS w1 G o g g & |
(A) wonfa (B) |
(©) wfew TIuE M) o
15, gl @ apgE, o & st § Rtk B wror e s B
A
(A) weurf favam (B) HE FEs
©) wHfeR THE (D) T fe

T.B.C. :14/15/ET-II1 9 P.T.O,



1. Merton views that deviance arises from ..., culturally determined

goals and available means to achieve them.

(A) coincidence | (B) discrepancies
(C) clash (D) conflict

New economic policy brought progress in :

(A) Information technology (B) Media sector
i
() Banking D) All of these =
i 4=
Who has done comparative study of villages in India ? .
(A) T.8. Epstein . (B) B.R. Chauban

(©) J.8. Gandhi "? (D) Leela Dube

In the following who has given the wnceptoffﬁdtype ?

(A) RK. Mukherjee (B) R. Redfield
(C) Max Weber (D) Nosie of these
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(A) FEm (B) fawmfa
(©) fadw (D)  wad

WICR O~ M. " S & wifn w E
(A)  gFW wHAR (B) wifem &
(©) #=% (D) F =t

18. 9 § & # gerners wvneA R e 2
(A) Ziud. e (B) . ¥R M
(C) . i (D) e &

19. frefafes 4 | fFay oyl wee'’ s@aron 6 % 2
(A) SR . @S (B) & EHES

(C) T 9 (D) 378 4 HE &

T.B.C. :14/15/ET-III 11 P.T.O.



20. Forms of landownership in an agrarian society include the :

(A) Landholders

(B) Supervisory farmers and cultivators

(C) Share-croppers

(D) Al of the above

21. In an agrarian society, the family is afan ...........cccveeniinnnn unit.
(A) Political (B) Religious
(C) Consumption (D) Economic
22. An agrarian society IS .......ccveeeisienens ;
(A) technological (B) bureaucratic
(C) homogenous (D) hefer‘ogenous

23. Who has termed the ‘Jajmani System’ as marking the vertical unity of

castes ?
(A) D.N. Majumdar (B) M. Singer
(C) K.L. Sharma (D) M.N, Srinivas

T.B.C. :14/15/ET-T11 12
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24.

25.

26.

217.

The “Thakur’ landlords in Uttar Pradesh making the Brahmins cook food for

them is an example of :

(A) Tribe-caste continuum (B) Rural-urban continuum
(C) Dominant caste (D) Secularization

In which year the ‘Bengal Tenancy Act’ was passed :

(A) 1855 (B) 1875

(C) 1860 (D) 1890

The three-tier system of Panchayati Raj was recommended by :
(A) Balwantrai Mehta Committee

(B) Elwin Committee

(C) Dhebar Committee

(D) Jayaprakash Narayan Committee

-

Etawah Project was launched with the aim to develop villages in the field

7, (e SRR LLE o8 '
(A) Agriculture - (B) Cooperation
(C) Public health (D) All of these
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28.  Antyodaya means the welfare of the person standing at ...........c.ccocooonnn. .

(A) Above poverty line (B) First in the que

(C) End of the que (D) Middle in the que

29. The First Industrial Policy resolution was presented in the year :

(A) 1947 (B) 1948
(C) 1949 (D) 1950
30. The family in the industrial society is a/an ..........ccccueeene... unit.
(A) Economic (B) Production
(C) Advertisement (D) Consumption

31. The concept of post-industrial society is associated with :
(A) Socrates (B) Touraine

(C) Toffler (D) Weber
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32.

33.

34.

35.

Assignments of jobs in the industrial society .is based on :

(A) Caste (B) Family status

(C) Technical skill (D) Racial preferences
An organization of the workers in a special craft is called :
(A) Guild (B) Party

(C) Group (D) Caste
................................ is a manifestation of psychological well-being.
(A) Less productivity (B) Alienation

(C) High productivity (D) Less consumption

Sustainable development is defined as meeting of “The needs of the present
without compromising the ability of future generation to meet their own needs”,

who defined it ?

(A) Royal Commission

(B) Development Commission
(C) Brundtland Commission

(D) Water Commission

T.B.C. :14/15/ET-111 18
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37.

38.

39.

Rostow’s thesis is that economy passes through a historical evolutionary

sequence from traditional to the most developed ........................ .
(A) Pastoral (B) Barbarian
(C) Agricultural (D) High mass consumption

Find out the correct match :

(A) Vinoba Bhave — Sarvodaya model of development

(B) M.K. Gandhi - Social capability model of development
(C) Amartya Sen - Mixed model of development

(D) J.L. Nehru — Swadeshi model of development

The concept of human development has its origin in the writings of early

economist ova s e kA e :
(A) W. Moore (B) Robert Malthus
(C) W.J. Goode (D) W.E. Park

....................... is of view that capitalism, due to its inherent characteristics exploits

the Third World.
(A) Paul Baran (B) W. W. Rostow

(C) I. Wallerstein (D) 8. Schumpeter
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41.

42.

43.

............................. is of the view that the world capitalist system involves

both development and underdevelopment as the two aspects of the same

system.
(A) Samir Amin (B) Paul Baran
(C) G. Frank (D) 1. Wallerstein

Socialist path of development is fully .....c.ooooeeiiiiiiiiniiiiinnnnns .
(A) State controlled economy

(B) Capital controlled economy

{(C) Private controlled economy

(D) Mix controlled economy

The Gandhian path of development is related to ..........c.cccooiiiiiiian :
(A) Hu.manist. (B) Moralist

(C) Nationalism (D) All of these
New Industrial Policy of 1977 has sttessefi on :

(A) promotion to big industries

(B) promotion to small scale industries

(C) high production output

(D) worker's rights

T.B.C. :14/16/ET-111 22
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47,

Gunnar Myrdal advocated the need for reorientation of the conventional

approach and development of a ...................... approach.
(A) Economic approach

(B) Sociclogical approach

(C) Industrial approach

(D) Technological approach

.......................... community that could rise to entrepreneurship during the Meiji

regime in Japan.

(A) Samurai (B} Madurai
(C) Nakurai (D} Dumari
Global warming and _............cccoiiiiiniinnn, are the adverse consequences of the

excessive use of modern technology.

(A) increase of knowledge (B) depletion of ozone layer
(C) increase of communication | (D) family planning

The Industrial Revolution in England took place through :

(A) Wool industry (B) Mining industry

(C) Textile industry (D) Lumbering industry

T.B.C. :14/15/ET-111 24
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48.

49.

50.

Centralised planning refers to :

(A) Complete governmental control over the economy

(B) Planning specific projects

(C) The provision of the general framework for the plan

() The provision of economic projections and voluntary guidelines
Who has developed the concept of social development ?

(A) O. Spengler (B) L. T. Hobbhouse

(C) L. Whyte (D) None of these

Social planning 18 8 ....ccceeeeiinininnnes :

(A) Conscious and deliberate effort to bring about change

(B) Unconscious and accidental effort to bring change

(C) Sporadic effort to bring about changes in the economy alone

(D) None of the above

A process of social change which is planned and desired by a society is called

----------------------------

(A) Modernization (B) Development

(C) Movement (D) Westernization

T.B.C. :14/15/ET-111 26
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52. India has followed a ......cccocvinieiiiinnnn path of development.

(A} Socialist (B) Capitalist

(C) Mixed () Revolutionary
53. What does a ‘Population Pyramid’ signify ?

(A) Fertility ratio

(B) Mortality ratio

(C) Death rate

(D) Age-sex distribution at a given time

" 54. ‘The Second Sex’ is written by :

(A) Virginia Woolf (B} Karen Horney

(C) Simone de Beauvoir (D) Nancy Bauer
51 S P A A SR P fund for ‘women security’ is formed in 2013.

(A) Vishakha (B) Jessica

(C) Roop Kanwar (D) Nirbhaya
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57.

58.

b9.

...................... argue that in the capitalist mode of production women are exploited

according to class difference.

(A) Marxist feminism (B) Post-modernist feminism
(C) Liberal feminism (D) Functional feminism
Until the passage of the .........c.occeevvvenennnn. , every Hindu was, in theory, free

to marry a number of women.

(A) Sharda Act v
(B) Hindu Marriage Act of 1955

(C) The Special Marriage Act of 1954

(D) None of the above

The custom of ..........ccvvvevviniiee. was abolished in 1829,
(A) Sati (B) Female infanticide
(C) Child marriage (D) Untouchability

...................... perspective finds gender inequality is the consequence of male

dominance, control and exploitation of women.
(A) Radical (B) Liberal

(C) Functional (D) None of these

T.B.C. :14/15/ET-I11 30
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60.

61.

62.

63.

First time in 1920 the feminist movement started with :
(A) Property right (B) Equal voting right
(C) Equal wage right (D) Equal employment right

Limiting birth of children, extra-marital sexual relation one termed as ..................

checks.
(A) Positive (B) Negative
(C) Neutral (D) Preventive

Malthusian theory has been criticised on the following ground(s) :

(A) It laid undue emphasis on limited supply of land

(B) It undermined the importance of industrial development

(C) Tt failed to accept the possibility of wide spread use of contraceptives
(D) All of the above

What is population growth ?

(A) Net gain by migration equal to natural increase

(B) Net gain by migration less than natural increase

(C) Net gain by migration added to natural increase

(D) None of the above
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64.

65.

66.

67.

68.

According to 2001 census the average annual growth rate of population

was .
(A) 1.95% (B) 2.16%
(C) 1.93% (D) 1.96%

Which period of India’s population growth is called the year of great
divided ?

(A) 1931 (B) 1941

(C) 1921 (D) 1951

As per the 1901 census, the total population of India is about ;:
(A) 238 million (B) 252 million

(C} 201 million (D) 251 million

Which is not an index used in the measurement of fertility ?
(A) Total Fertility Rate (B) Infant Mortality Rate
(C) Crude Birth Rate v J (D) General Fertility Rate

....................... is the number of live births in a calendar year per 1,000 women

aged 15-49.
(A) Crude Birth Rate (B) General Mortality Rate
(C) Total Growth Rate (D) General Fertility Rate
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(A) 1.95% (B) 2.16%
(C) 1.93% (D) 1.96%

65. Wmﬁ%ﬂm@ﬁmmﬁwaﬁm?

@y 1941 (B) 1941
L D) 1951
66. 1901W$m,maﬁﬁm .......................... & |
(A) 238 THiewr (B) 252 fafer
(C) 201 T D) 251 faferm

67w A A # o #he g oww d Ad o w2
(A) H/A WS w7 (B) Ty v =
(C) =iy 579 7T (D) WU YSEAd §1

68. Waﬁﬁlsmmaﬁuﬁrloogaﬁzﬂiﬁﬁhamaﬁmaﬁ

............... m %‘
(A) awifda 991 2T (B) WM oM
© %@ g = L
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69. The first formal census enumeration was taken up in ................. ;

(A) 1781

(C) 1881

(B) 1911

(D) 1921

70.  Population growth in the decade 1911 to 1921 was :

(A) Negative

(C) Equal

(B) Positive

(D) None of these

71.  Fertility involving a deliberate use of birth control is called ....................

(A) natural

(C) gross

(B) controlled

(D) none of these

72.  The number of migrants related to the population in a given interval is

called :

(A) gross migration

(C) effective migration
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(B) net migration

(D) migration rate



69. gqq m W .......................... ﬁ m Eg '

(A) 1781 (B) 1911
(C) 1881 (D) - 1921
70. 1911 ¥/ 1921 F wE H sEmEm gig e dt |
(A) TR (B) WHRRHH
(C) =9A D) & | FE TE
71.  WoFAal § 5 Friaw @ S -geent g e ey e PECECIE Troin]
®
| (A) wiEfaw (B) ﬁmﬁa
(€) FHe 1 VD) i d W
G U A i R R i g
(A) EFa FFeH (B) arfas® waas
(C) WYEITE Werer D) wFIT T
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73. Overpopulation leads to :
(A) Low standard of living
(B) Growing unemployment
(C) Low per capita income
(D) All of the above

74. According to National Population Policy 2000, the main objective is

YR vopsinnorommorinat iy ]

(A) address the unmet needs for contraception

(B) bring tot;il fertility rate to replacement level by 2010
(C) achieve a stable population by 2045

(D) raise age at marriage

75. In which year the Government of India adopted a National Programme of

Family Planning ?
(A) 1962 (B) 1957
(C) 1952 (D) 1965
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(A) SE @1 T ow
(B) FT=ml w1 weA
(C) Tm= wfa =afw o
(D) 379 H | I T8
74, 2000#“@““@%%%’5@@ .......................... m"
(A) Tus =1 sEvgsa $1 96F e
(B) 201oéai§aumatmwﬁlwmm
(C) 2045 7% foow S99 #1 WE
(D) faaw =1 3@ + =@
75. %8 =d § 9dm @R A ufEn fEem @ odm 9o weg e ?
(A) 1962 ¥ (B) 1957 &
(C) 1952 ¥ (D) 1965 H
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